4000

3000

2000

1000

1000

2000

Adet (ppb)

= X% I ndf 60.38/54 |
= ) 479.5 + 127.6
. | | II ] ] l T l 1 ] | L]
2anN 1* EERUNUGRIBRN

1D pull distribution

Mean 0.00552 +0.1413
I B Std Dev 1.048 +0.0999
12 Underflow
r Overflow
10— X2 I ndf 7.783/6
- Constant 8.685 +1.642
Mean -0.04687 +0.21717
sk
| Sigma 1.252+0.213
6
4
2 —
0 [ | 1 11 | 111 | 111 | i L | L1l
-8 -6 -4 -2 0 2 4 6 8




Adet RMS (ppm)

— 8'v.L.E
— LVvLLE
— 9vLLE
— S'vLLE
— v'vLlE
— €vLLE
— ¢vLlE
— Tv.LE
— OvilE
— 6'€LLE
— 8'€LLE
— L'€LLE
— 9'€LLE
— G'€LLE
— V'€LLE
— €'€LLE
— ¢'€LLE
— TeLLE
— 0'€LLE
— 0T'¢LLE
— 6'¢LLE
— 8'¢LLE
— L'cLLE
— 9'¢LLE
— S§'¢LLE
— v'cLlE
— €'¢LLE
— ¢'cLlE
— TcLLE
— 0'¢LLE
— €'TLLE
— C'TLLE
— T'TLLE
— 0'TLLE
— 0T'0LLE
— 6'0L.E
— 8'0L.E
— L'0L.E
— 9'0L.E
— §'0L.E
— v'0LLE
— €'0L.E
— ¢'0L.E
— T0L.E
— 0'0L.E
— 6'69.€
— 8'69.€
— 1'69.€
— 9'69.€
— §'69.¢€
— 7'69.€
— €69,
— 2'69.€

T'69.€
069,

_________
®
© N

o

(wdd) sy

_____
o
o

[Te) -
- »
(o2}

90.5

90

89.5



AdetRaw (ppb) 1D pull distribution

= X2 / ndf 55.42 /54 |

: po 463.4 + 414.1 - Mean  -0.006809 + 0.1354
10000 — : Std Dev 1,004 + 0.09571

A 12— Underflow 0

—
—

L

5000 o
10 — X2 I ndf 065716
= { l ] l I l I I i Constant 11822
1 .
1 1

T T .
l l sl Mean 0.1797 +0.1259
| Sigma 0.8201 + 0.0950

5000 6 1
0000 [+— ar
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII L
2_
-III|III|IJJIII|I|I| I

0
8 6 4 2 0 2 4 6 8




AdetRaw RMS (ppm)

(wdd) sy

8'VLLE
LvLLE
9vLLE
SVvLLE
vvile
€VLLE
[AZVE
TvLLE
ovLLE
6'€LLE
8'€LLE
L'eLLE
9'€LLE
S'€LLE
V'eLLE
€eLLE
ceLLE
TeLLE
0'€LLE
0T'cLLe
6'¢cLLE
8'¢LLE
Lelle
9'¢cLle
S'clLle
veLle
g€eLLe
celle
TcLLE
0cLLe
€TLLE
¢TLLE
TTLLE
0'TLLE
0T'0LLE
6'0LLE
8'0LLE
L'0LLE
9'0LLE
S'0LLE
v'oLLE
€0.LLE
20LLE
ToLLE
0'0LLE
669.€
8'69.€
1’69,
9'69.€
G'69.€
7’69,
€69,
2’69,
T'69.€
069,



1D pull distribution

-0.002631+ 0.06467

Mean

0.4796 + 0.04573

Std Dev

Underflow

Overflow

1.287/3

X2 / ndf

24.27 +4.38

Constant

-0.02428 + 0.06674

Mean

0.4745 +0.0593

Sigma

22

|
<
—

|
N
—

0_|||||||||||

o [ee) © < N
i

12.65/54 hH

X2 / ndf

4

96 + 242,

-10

pO

asym_hcm_target (ppb)

4000

2000

2000
4000




asym_bcm_target RMS (ppm)

___
o
o
<

(wdd) sy

8'VLLE
LvLLE
9vLLE
SVvLLE
vvile
€VLLE
[AZVE
TvLLE
ovLLE
6'€LLE
8'€LLE
L'eLLE
9'€LLE
S'€LLE
V'eLLE
€eLLE
ceLLE
TeLLE
0'€LLE
0T'cLLe
6'¢cLLE
8'¢LLE
Lelle
9'¢cLle
S'clLle
veLle
g€eLLe
celle
TcLLE
0cLLe
€TLLE
¢TLLE
TTLLE
0'TLLE
0T'0LLE
6'0LLE
8'0LLE
L'0LLE
9'0LLE
S'0LLE
v'oLLE
€0.LLE
20LLE
ToLLE
0'0LLE
669.€
8'69.€
1’69,
9'69.€
G'69.€
7’69,
€69,
2’69,
T'69.€
069,



1D pull distribution

—0.006943 + 0.138

Mean

+0.09759

1.024

Std Dev

Underflow

Overflow

9.05/6

X2 / ndf

113 %22

Constant

0.2275 +0.1384

Mean

0.8698 +0.1148

Sigma

\

}

0|||||||||_|J

57.62 /54 hH
+ 406.2

463.4

X2 / ndf
0

p

asym_us_avg (ppb)

E . .
=

10000 —

5000

10000

-HUELLE
Hoesie

---iqorziLe

--a--i6TLLE

8'V.L.LE
L'V1LE
ERZNA
ERZNA
LAZ¥A
CV.LLE
[AZ¥A
Lv.LE
0'v..LE

-146°€LLE

8'€LLE
L'€LLE
9°€LLE
G'€LLE

-aqv'eLLE
-i€eLLE

C'ELLE

8'CLLE
1'¢LLE
9'CLLE
G'CLLE
V'cLLE
€CLLE
c'cLLE
L'2LLE
0'CLLE

HETLLE

CTLLE

- s
cheeefeeeseeaadOTLLE
-sdoToLLe
-ide0LLE

8'0LLE

-4-roLse
-i90228

e ieis0Le
-iroLe

-He0Le

-idzoLLe

BEERY  EERFRRRFE 0T
ITERRIEEE EEEECTRES NI
- 16'69.2€

8'69.€

-i-{L'692€
-iHo69.€
-1-45'69.€
-iHr69Le
seeiee-d4E°69LE
- iee- 2426928

[L'69.€
0'69.€




g RMS (ppm)

us_av

asym_

8'VLLE
LvLLE
9vLLE
SVvLLE
vvile
€VLLE
[AZVE
TvLLE
ovLLE
6'€LLE
8'€LLE
L'eLLE
9'€LLE
S'€LLE
V'eLLE
€eLLE
ceLLE
TeLLE
0'€LLE
0T'cLLe
6'¢cLLE
8'¢LLE
Lelle
9'¢cLle
S'clLle
veLle
g€eLLe
celle
TcLLE
0cLLe
€TLLE
¢TLLE
TTLLE
0'TLLE
0T'0LLE
6'0LLE
8'0LLE
L'0LLE
9'0LLE
S'0LLE
v'oLLE
€0.LLE
20LLE
ToLLE
0'0LLE
669.€
8'69.€
1’69,
9'69.€
G'69.€
7’69,
€69,
2’69,
T'69.€
069,

(wdd) sy




0.01544 + 0.1494

Mean

+0.1057
4.101/7
9.505 + 1.712
1.248 £0.174

1.108
-0.1903 + 0.1960

Std Dev
Underflow
Overflow
X2/ ndf
Constant
Mean
Sigma

1D pull distribution

pllh o Ly 1D
0

2
10
8
6
a-
2
OIIIlI
8

721.6

+

67.57 /154 hH

160.4

X2 / ndf
0

p

asym_usr (ppb)

J8vLie
--Hivile
2o HOVLLE
--HSYLLE
HyvLLE
VLLE
VLLE
HUvLLE
i HOVLLE
e - --H6ELLE
........ --H8ELLE
i
--qoesle
- 2o+ HGELLE
2o HY'ELLE
HE'ELLE
HZELLE
HUELLE
i---HO'ELLE
-1 -HOT'2LLE
--r6zLLE
i X
<o -HLTLLE
-----qoTLLE
--HGTLLE
HY'ZLLE
TLLE
HezLle
--HU'2LLE
-3---HOTLLE
£TLLE
--HeTLLE
HUTLLE
i [
2---HOT'0LLE
H6'0LLE
H8'0LLE
HL0LLE
i---HO'0LLE
--a---HS0LLE
--Hv0LLE
- --reosse
2=+ -H20LLE
e -0 -qU0LLE

_ il
|

|

ﬂlIlT_.‘.TTT_I_.________

5000
10000
15000

0000

)



asym_usr RMS (ppm)

_____
o
I
©

(wdd) sy

8'VLLE
LvLLE
9vLLE
SVvLLE
vvile
€VLLE
[AZVE
TvLLE
ovLLE
6'€LLE
8'€LLE
L'eLLE
9'€LLE
S'€LLE
V'eLLE
€eLLE
ceLLE
TeLLE
0'€LLE
0T'cLLe
6'¢cLLE
8'¢LLE
Lelle
9'¢cLle
S'clLle
veLle
g€eLLe
celle
TcLLE
0cLLe
€TLLE
¢TLLE
TTLLE
0'TLLE
0T'0LLE
6'0LLE
8'0LLE
L'0LLE
9'0LLE
S'0LLE
v'oLLE
€0.LLE
20LLE
ToLLE
0'0LLE
669.€
8'69.€
1’69,
9'69.€
G'69.€
7’69,
€69,
2’69,
T'69.€
069,



+0.1885
1.398 £ 0.1333
5.008/10
7.303 +1.513
-0.187 + 0.241
1.52+0.28

8

-0.02009
1 | Ll
6

Underflow

Overflow

Constant

Mean
Std Dev

1D pull distribution

b Lo b Lo
0

Ollll
-8

107.6 /54 hH

X2 / ndf

|

766.3
l
I

|

|

asym_usl (ppb)

_____
o [S)

0000
1000
10000
0000
30000

)



asym_usl RMS (ppm)

(wdd) sy

8'VLLE
LvLLE
9vLLE
SVvLLE
vvile
evLLE
[AZVE
TvLLE
ovLLE
6'€LLE
8'€LLE
L'eLLE
9'€LLE
S'€LLE
V'eLLE
€eLLE
ceLLE
TeLLE
0'€LLE
0T'cLLe
6'¢cLLE
8'¢LLE
Lelle
9'¢cLle
S'clLle
veLle
g€eLLe
celle
TcLLE
0cLLe
€TLLE
¢TLLE
TTLLE
0'TLLE
0T'0LLE
6'0LLE
8'0LLE
L'0LLE
9'0LLE
S'0LLE
v'oLLE
€0.LLE
20LLE
ToLLE
0'0LLE
669.€
8'69.€
1’69,
9'69.€
G'69.€
7’69,
€69,
2’69,
T'69.€
069,



4000

3000

2000

1000

1000

2000

lagr_asym_us_avg (ppb)

X2 7 ndf 60.38 / 54
p0 479.5 + 127.6

—
—
—
—_——
o
—
—
1
L
[E—
[e—
fE—
—
—
1
[E—
—
H
———
—

1D pull distribution

Mean 0.00552 +0.1413
I B Std Dev 1.048 +0.0999
12 Underflow
r Overflow
10— X2 I ndf 7.783/6
- Constant 8.685 +1.642
Mean -0.04687 +0.21717
sk
| Sigma 1.252+0.213
6
4
2 —
0 [ | 1 11 | 111 | 111 | i L | L1l
-8 -6 -4 -2 0 2 4 6 8




lagr_asym_us_avg RMS (ppm)

— 8'v.L.E
— LVvLLE
— 9vLLE
— S'vLLE
— v'vLlE
— €vLLE
— ¢vLlE
— Tv.LE
— OvilE
— 6'€LLE
— 8'€LLE
— L'€LLE
— 9'€LLE
— G'€LLE
— V'€LLE
— €'€LLE
— ¢'€LLE
— TeLLE
— 0'€LLE
— 0T'¢LLE
— 6'¢LLE
— 8'¢LLE
— L'cLLE
— 9'¢LLE
— S§'¢LLE
— v'cLlE
— €'¢LLE
— ¢'cLlE
— TcLLE
— 0'¢LLE
— €'TLLE
— C'TLLE
— T'TLLE
— 0'TLLE
— 0T'0LLE
— 6'0L.E
— 8'0L.E
— L'0L.E
— 9'0L.E
— §'0L.E
— v'0LLE
— €'0L.E
— ¢'0L.E
— T0L.E
— 0'0L.E
— 6'69.€
— 8'69.€
— 1'69.€
— 9'69.€
— §'69.¢€
— 7'69.€
— €69,
— 2'69.€

T'69.€
069,

_________
®
© N

o

(wdd) sy

_____
o
o

[Te) -
- »
(o2}

90.5

90

89.5



1D pull distribution

+0.1485

1.101+ 0.105

0.003819

Mean

Underflow

Overflow

4.239/7

9.024 +1.720

Constant

0.01726 + 0.21252

1.233+0.192

Sigma

Olllll

66.67 / 54 h

X2 / ndf

536 + 177.2

pO

lagr_asym_usr (ppb)

AN

4000

4000 —




lagr_asym_usr RMS (ppm)

(wdd) sy

126

oo Lttt ety

8'VLLE
LvLLE
9vLLE
SVvLLE
vvile
€VLLE
[AZVE
TvLLE
ovLLE
6'€LLE
8'€LLE
L'eLLE
9'€LLE
S'€LLE
V'eLLE
€eLLE
ceLLE
TeLLE
0'€LLE
0T'cLLe
6'¢cLLE
8'¢LLE
Lelle
9'¢cLle
S'clLle
veLle
g€eLLe
celle
TcLLE
0cLLe
€TLLE
¢TLLE
TTLLE
0'TLLE
0T'0LLE
6'0LLE
8'0LLE
L'0LLE
9'0LLE
S'0LLE
v'oLLE
€0.LLE
20LLE
ToLLE
0'0LLE
669.€
8'69.€
1’69,
9'69.€
G'69.€
7’69,
€69,
2’69,
T'69.€
069,



1D pull distribution

lagr_asym_usl (ppb

g 8§ ° ° =T 3 3 g
I, § 3 & 3 ©
PR & 2 & n
2 2 S o S m
: g g - ]
S g — o©
oS 3 .
? 3
2
K H - €
s 8 § ¢ T & ; ¢ <
: 3 5 & % 8 2 &
— N
do
— 9
J_.
—¢
O S S U NVSRAVEN USRS MFUFURN B
< N o © © < N o
- i i
[ ——— - d8viLe
—e—— — [EEETREPLE VRIS
< < +—e— — :-JovLse
) :
© — — [ RIS RN
~ I~ —_—— — - 1.0 vLLE
M | —e— — - e vLLE
N —te——— — ZvLLE
.+ A ] .
— —————— TvLLE
o M —— — -{ovile
N — +-=46°€LLE
< — -8€LLe
— s-HLELLE
—— — :-HoeLLe
— — +-=SELLE
———— — 1-yELLE
= ———— — -HeeLLE
© ——— — zeLlE
< — — iqresse
- — el — RERETE (VEIIT
N = ————— — -2---3-HoTeLse
< — e— J PR
—_———  —
—e— B! IR
————— —]
—_— —
—— —
——1 —]
—_— —]
— —
—_—— —
—— —
——— — 0T'0LLE
— —]

2000



lagr_asym_usl RMS (ppm)

(wdd) sy

8'VLLE
LvLLE
9vLLE
SVvLLE
vvile
€VLLE
[AZVE
TvLLE
ovLLE
6'€LLE
8'€LLE
L'eLLE
9'€LLE
S'€LLE
V'eLLE
€eLLE
ceLLE
TeLLE
0'€LLE
0T'cLLe
6'¢cLLE
8'¢LLE
Lelle
9'¢cLle
S'clLle
veLle
g€eLLe
celle
TcLLE
0cLLe
€TLLE
¢TLLE
TTLLE
0'TLLE
0T'0LLE
6'0LLE
8'0LLE
L'0LLE
9'0LLE
S'0LLE
v'oLLE
€0.LLE
20LLE
ToLLE
0'0LLE
669.€
8'69.€
1’69,
9'69.€
G'69.€
7’69,
€69,
2’69,
T'69.€
069,



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18


